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2. [11 points] Let P(t)

be the average temperature (in °F) in a small moon that rotates around

a planet at time ¢ (in hours). Suppose that P(t) is a periodic function with period less than
20 hours. The graph of y = P(t) is shown below
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the period of P(t):

the amplitude of the function P(t):

the equation of the midline of the function P(t):

. [3 points] What is the smallest value of ¢ that satisfies ¢ > 24 and P(t) = 307

e. [2 points] Let k(t) = 2P(3t). What is the period of the function k(¢)?
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